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SM: AN
Mz HMSAHH (EHAM)(IIEH/DIIE
S D2 (2EAAM) (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
HESHAAL (BAAMD)(IIEH/DIE) 85, 152 82,587 2,565
Jl2Zd(2H2AH) 85, 152 82,587 2,565
Jl2dH(EH M) 85, 152 82,587 2,565
201 B2 A Y| 37,062 34,108 2,954
01 Ar®2telt] 37,062 34,108 2,954
= 0ff & 37,062 34,108 2,954
Ogetx=2H| 20,934
—JIE =24 (2H21) 300,000& «12& 3,600
—JISANEES 100, 000& *28YH 2,800
— Z2AM2X 23,000 * 102 A x12& 2,760
— 2A SXH2(EH L EHRY S)
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—Z2H KI22(EURY S)
237,000& *3CH x4 3] 2,844
—HASTHCIH(EY) 110,000& *33] 330
— 2 AHJ| =&H] 500,000 *2CH 1,000
—HA EAESE FAUH(BAHA FHAH)
300,000& *123] 3,600
Or=g=i:l 16,128
— BAHYR F& ESZ20HAHI
8,000 28 63| x12& 16,128
202 044l 40,800 41,189 A\ 389
01 =UioiHl 40,800 41,189 £389
= 0l & 40,800 41,189 A 389
OBALRE=X ] 40,800
— 2L S&0Hl 20,0003 *14H %103 x12& 33,600
— 22 &0 150, 000& *6H *x83] 7,200
203 Y= 7,290 7,290 0
01 JI22ILR=AH| 2,970 2,970 0
= 0l & 2,970 2,970 0
OBHAZ(432) 2,970
— R F=XH| 3,300, 000& *90% 2,970
04 BASRYSETY| 4,320 4,320 0
=0l 4 4,320 4,320 0
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SEAO2Y 29 XK (BH/BEAHo2)(BAH/EHA2 1,312,124 980,000 332,124
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ANgogd JisE22 A 1,275,000 980,000 295,000
= 850,000
Al 425,000
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= 850, 000
Al 425,000

02 QUAT2AMEEZ(0IXIHA) 1,275,000 980,000 295,000
= 850,000
Al 425,000
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Al 425,000
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